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: Grey line: exponential fit Peak flux: 6.127+/- 0.906 c/s/cm? :
Black line: power law + gauss fit Fluence : 40.23+/- 6.91 c/cm?

- Dashed line: power law o ' ’ ]
- Duration: 14.00+/- 3.21s -
B Best fit model: 2. N
I Best fluence model: 2. B
| H Best duration model: 2. B
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; Exponential fit é
= Expon.time: 3.51+/- 0.21 s (chi*red= 1.26) =
Iy i B b L b b b
= :W M Wﬁw | ﬂwﬁﬂ WM%HH Mw MKHWH Tﬁ wﬂm HW %Wﬂw HWEH:HHHWWW ﬁﬁw i Hmﬁﬂ ﬁﬁﬂw ﬁﬂﬂw H&HWMHHHH{ ﬁw#%&%
- f | -
; Power law fit é
= Power law index: -1.621+/- 0.198 (chi’-red= 1.24) 3
= AT bttt bt bl b bbb b e b b =
— ﬁﬁH M Mﬁ i | ﬂwﬁﬂ HWWHWH Mﬁﬂ wnﬂﬂ% Tﬁ ww HH i ﬂ%ﬂﬁﬁﬂﬁﬁ it ﬂ i :HHHWHWH ﬁﬁw i HWﬂ ww Mﬂﬁﬁ ﬁﬁﬂm%ﬁ ﬂm Wﬁﬂwﬁ
= f i =
i T T T T T \ I i
—  Power law fit plus Gaussian (st.dev.= 30.49+/-16.60 s, fracgs= 0.07+/- 0.03) =
- Power law index: -1.886+/- 0.153 (chi*-red= 1.25) 3
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